

① AWP: $(1+e^t)x' = x$, $x(0) = 2$

Beh.: $x(t) = 4 \cdot e^t \cdot (1+e^t)^{-1}$ ist Lsg. der AWP

Beweis: i) $x(0) = 4 \cdot e^0 \cdot (1+e^0)^{-1}$
 $= 4 \cdot 1 \cdot (1+1)^{-1}$
 $= \frac{4}{2} = 2$ ✓

ii) $x'(t) = 4e^t \cdot (1+e^t)^{-1} + 4e^t \cdot \underbrace{e^t \cdot (1+e^t)^{-2}}_{\substack{\text{innere} \\ \text{Ableitung}}} \cdot \underbrace{(-1)}_{\substack{\text{äußere} \\ \text{Ableitung}}}$
 $= 4e^t [(1+e^t)^{-1} - e^t (1+e^t)^{-2}]$
 $\Rightarrow (1+e^t) \cdot x' = (1+e^t) \cdot 4e^t \cdot [(1+e^t)^{-1} - e^t (1+e^t)^{-2}]$
 $= 4e^t [1 - e^t (1+e^t)^{-1}]$
 $= 4e^t \left[\frac{(1+e^t) - e^t}{1+e^t} \right]$
 $= 4e^t \cdot \frac{1}{1+e^t} = 4e^t \cdot (1+e^t)^{-1} = x(t)$ ✓

② a) $x' - 3t = 0 \Leftrightarrow \frac{dx}{dt} - 3t = 0$

$\Leftrightarrow dx = 3t \cdot dt$

$\Rightarrow \int dx = \int 3t dt$

$\Leftrightarrow x = \frac{3}{2} \cdot t^2 + C$

$\Rightarrow \underline{x(t) = \frac{3}{2} \cdot t^2 + C}$

b) $\ddot{x} = t \Rightarrow \dot{x} = \int t dt = \frac{1}{2} t^2 + C_1$

$\Rightarrow \underline{x = \int \frac{1}{2} \cdot t^2 + C_1 dt = \frac{1}{6} t^3 + C_1 t + C_2}$

c) $\dot{x} = x \cdot t \Leftrightarrow \frac{dx}{dt} = x \cdot t$

$\Leftrightarrow \frac{dx}{x} = t \cdot dt$

$\Rightarrow \int \frac{1}{x} dx = \int t dt$

$\Leftrightarrow \ln|x| = \frac{1}{2} t^2 + C \Rightarrow \underline{x(t) = e^{\frac{1}{2} t^2 + C} = \tilde{C} \cdot e^{\frac{1}{2} t^2}}$

$$\begin{aligned}
 d) \quad 3t^2 + at - 5\dot{x} &= 0 & \Leftrightarrow & \quad 5\dot{x} = 3t^2 + at \\
 & & \Leftrightarrow & \quad 5 \cdot \frac{dx}{dt} = 3t^2 + at \\
 & & \Leftrightarrow & \quad 5 dx = (3t^2 + at) dt \\
 & & \Rightarrow & \quad \int 5 dx = \int (3t^2 + at) dt \\
 & & \Leftrightarrow & \quad 5x = t^3 + \frac{a}{2} t^2 + C \\
 & & \Leftrightarrow & \quad \underline{\underline{x(t) = \frac{1}{5} \cdot (t^3 + \frac{a}{2} t^2) + \tilde{C}}}
 \end{aligned}$$

$$\begin{aligned}
 e) \quad \dot{x}(1+t^2) &= tx & \Leftrightarrow & \quad \frac{dx}{dt}(1+t^2) = tx \\
 & & \Leftrightarrow & \quad \frac{dx}{x} = \frac{t}{1+t^2} dt \\
 & & \Rightarrow & \quad \int \frac{1}{x} dx = \int \frac{t}{1+t^2} dt
 \end{aligned}$$

$$\begin{aligned}
 & \text{Subst. } u(t) := 1+t^2 \Rightarrow \frac{du}{dt} = 2t \\
 & \Leftrightarrow dt = \frac{du}{2t} \\
 & = \int \frac{t}{u} \cdot \frac{du}{2t} \\
 & = \frac{1}{2} \cdot \int \frac{1}{u} du \\
 & = \frac{1}{2} \cdot \ln|u| + C
 \end{aligned}$$

$$\Leftrightarrow \ln|x| = \frac{1}{2} \cdot \ln(1+t^2) + C$$

$$\begin{aligned}
 \Leftrightarrow \underline{\underline{x(t)}} &= e^{\frac{1}{2} \cdot \ln(1+t^2) + C} \\
 &= \left(e^{\ln(1+t^2)} \right)^{\frac{1}{2}} \cdot e^C \\
 &= \underline{\underline{\tilde{C} \cdot (1+t^2)^{\frac{1}{2}}}}
 \end{aligned}$$

$$f) \quad \dot{x} = (1-x)^2 \quad \Leftrightarrow \quad \frac{dx}{dt} = (1-x)^2$$

$$\Leftrightarrow \quad \frac{dx}{(1-x)^2} = dt$$

$$\Rightarrow \quad \int \frac{1}{(1-x)^2} dx = \int dt$$

Subst. $u(x) = 1-x$

$$\Rightarrow \frac{du}{dx} = -1$$

$$\Leftrightarrow dx = -du$$

$$\int \frac{1}{u^2} \cdot (-1) du$$

$$= (-1) \cdot \int u^{-2} du$$

$$= (-1) \cdot (-1) u^{-1} + C$$

$$= \underline{\underline{(1-x)^{-1} + C}}$$

$$\Leftrightarrow \quad \frac{1}{1-x} = t + \tilde{C}$$

$$\Leftrightarrow \quad 1-x = \frac{1}{t + \tilde{C}}$$

$$\Leftrightarrow \quad \underline{\underline{x(t) = 1 - \frac{1}{t + \tilde{C}} = \frac{t + \tilde{C} - 1}{t + \tilde{C}}}}$$

③ a) NWP: $x \dot{x} + 1 = t$, $x(1) = 2$

i) allg. Lösg.: $x \cdot \frac{dx}{dt} + 1 = t$

$$\Leftrightarrow x dx = (t-1) dt$$

$$\Rightarrow \int x dx = \int (t-1) dt$$

$$\Leftrightarrow \frac{1}{2} x^2 = \frac{1}{2} t^2 - t + C_1$$

$$\Leftrightarrow \underline{x(t) = (t^2 - 2t + C_2)^{1/2}}$$

ii) Bestimmung der Konstanten: $x(1) = (1 + 2 + C_2)^{1/2} = 2$

$$\Rightarrow 1 + 2 + C_2 = 4$$

$$\Leftrightarrow \underline{C_2 = 1}$$

$$\Rightarrow \underline{x(t) = (t^2 - 2t + 1)^{1/2}} \\ = (t-1)^{1/2} = \underline{\underline{|t-1|}}$$

b) NWP: $\dot{x} + (\cot t) \cdot x = 0$, $x(\frac{\pi}{2}) = 2\sqrt{e}$

i) allg. Lösg.: $\frac{dx}{dt} + (\cot t) \cdot x = 0$

$$\Leftrightarrow \frac{dx}{x} = (-\cot t) dt$$

$$\Rightarrow \int \frac{1}{x} dx = - \int \cot t dt$$

$$\Leftrightarrow \ln|x| = -\ln t + C$$

$$\Rightarrow \underline{x(t) = e^{-\ln t + C} = \tilde{C} \cdot e^{-\ln t}}$$

ii) Bestimmung der Konstanten: $x(\frac{\pi}{2}) = \tilde{C} \cdot e^{-\ln(\pi/2)} \stackrel{!}{=} 2\sqrt{e}$

$$\Leftrightarrow \tilde{C} \cdot e^{-1} = 2\sqrt{e}$$

$$\Leftrightarrow \underline{\tilde{C} = e \cdot 2\sqrt{e}}$$

$$\Rightarrow \underline{\underline{x(t) = 2\sqrt{e} \cdot e \cdot e^{-\ln t} = 2\sqrt{e} \cdot e^{1-\ln t}}}$$

$$\textcircled{4} \quad a) \quad \dot{x} = 1 + 2 \cdot \left(\frac{x}{t}\right)$$

$$\text{Subst. } u = \frac{x}{t} \quad \Leftrightarrow \quad x = u \cdot t$$

$$\Leftrightarrow \quad \dot{x} = \dot{u}t + u$$

$$\text{subst.} \Rightarrow \quad \dot{u}t + u = 1 + 2u$$

$$\Leftrightarrow \quad \dot{u}t = 1 + u$$

$$\Leftrightarrow \quad \frac{du}{dt} t = 1 + u$$

$$\Leftrightarrow \quad \frac{du}{1+u} = \frac{dt}{t}$$

$$\Rightarrow \quad \int \frac{1}{1+u} du = \int \frac{1}{t} dt$$

$$\text{Subst. } g(u) = 1+u$$

$$\Rightarrow \frac{dg}{du} = 1 \quad \Leftrightarrow \quad dg = du$$

$$= \int \frac{1}{g} dg$$

$$= \ln|g| + C_1$$

$$\Leftrightarrow \quad \ln|1+u| = \ln|t| + C_1$$

$$\Rightarrow \quad \underline{u+1} = e^{\ln|t| + C_1} = \underline{C_2 \cdot t}$$

Rech.

$$\text{subst.} \Rightarrow \quad \frac{x}{t} + 1 = C_2 \cdot t$$

$$\Leftrightarrow \quad \underline{\underline{x(t) = C_2 t^2 - t}}$$

$$3) \quad \dot{x} = (t+x+1)^2$$

$$\text{Subst. } u = t+x+1 \quad (\Rightarrow) \quad x = u - t - 1$$

$$(\Rightarrow) \quad \dot{x} = \dot{u} - 1$$

$$\text{mit} \Rightarrow \quad \dot{u} - 1 = u^2$$

$$(\Rightarrow) \quad \frac{du}{dt} = u^2 + 1$$

$$(\Rightarrow) \quad \frac{du}{u^2+1} = dt$$

$$\Rightarrow \quad \int \frac{1}{u^2+1} du = \int dt$$

Fol

$$(\Rightarrow) \quad \text{arc tan } u = t + C$$

Rück-

$$\text{mit} \Rightarrow \quad t+x+1 = \text{tan}(t+C)$$

$$(\Rightarrow) \quad \underline{\underline{x(t) = \text{tan}(t+C) - t - 1}}$$